PART PART
PART CABLE MANAGEMENT PANEL U AR CM-1227
0.625 —=— _‘l |'_ —— 0.625
19.000
—={ L1375 (13) SPACES @ 1230 = 16.250 (2 PLACES)
0,328 0.188 DIA. 0.250 DIA. 0,328
| 0278 REF, (32) HILES (41) HOLES — 0234
* 1109 gaca O|a o\\u o o o o o o o o o o o o o o o ©
1.734
* O O O O O O O O O O O O O
O @) O O O @) @) O O O O 3000 3468
O O O O O O O O O O O O O O
1109 o o)
welO___q\ ° ° ° ° ° ° ° ° ° ° ° ° ° °° N o |
* \=— 2,000 / (12> SPACES @ 1250 = 15000 / 0.500 IV_ _AI
(4) HOLES
MATERIAL: SUPPLIED WITH:
PANEL 16 GA. STEEL QTY. (4) #10-32 x 5/8 LG. SCREWS
CABLE RINGS— 14 GA. STEEL QTY. (4) #12-24 x 1/2 LG. SCREWS
CABLE CLIPS NYLON QTY. (@ #CM-1229 CABLE CLIP PACKAGES:
FINISH QTY. (24) CABLE CLIPS
QTY. (3> #CM-1220 CABLE RING PACKAGES:
mnwm_m W_%_%mm_.m RINGS —SMOOTH w\__u.mmm QTY, (3> CABLE RINGS

QTY, (6) #10-32 x 5/8 LG SCREWS
QTY. (6 #12-24 x 1/2 LG SCREWS

0.480 | 0.250 QTY. (6> #12-24 HEX NUTS

|———
|——

= |
"

1812

—
—
[ee]
<
=
W
=
no

==

——
|
-
—

CABLE CLIP




